
  

 Public Economics - I (ECBCS 17-312) AKM - 1   

 
1/2 

TILAK MAHARASHTRA VIDYAPEETH, PUNE 
M. A. (PARANGAT) ECONOMICS    
EXAMINATION: DECEMBER - 2022 

THIRD SEMESTER 
 Subject: Public Economics - I (ECBCS 17-312)   

Date:  22/12/2022 Total marks:  60      Time: 10.00 am to 12.30 pm  
Instructions:  1) All questions are compulsory.     2) Figures to the right indicate full marks. 
Q. 1. Choose the correct answer from the given options. (05) 

1.       Club Goods are provided by ………  
 a) private sector b) public sector  
 c) both private and public sector d) none of the above  

2.      Impossibility Theorem was given by ………  
 a) Pareto b) Arrow  
 c) Samuelson d) Lindahl  

3.      Incidence of taxation falls on ………  
 a) The person who first pays the tax  b) The person on whom the tax is shifted  
 c) The last person who pays the tax d) The person not paying the tax  

4.       Laffer Curve shows the relationship between which two variables?  
 a) Tax rate and the amount of tax revenue 

collected 
b) Saving and investment  

 c) Price and demand d) Interest rate and investment  
5.      Ability to pay tax is measured by ………  

 a) The benefit received from government 
services  

b) Occupation  

 c) Income d) Saving  
   

Q. 2. Answer any three of the following questions in 100 words. (15) 
 1) Difference between private goods and public goods.  
 2) Objectives of public expenditure  
 3) Tiebout model  
 4) Meaning and types of non-tax revenue  
 5) Vertical and horizontal equity in taxation  
   
Q. 3. Answer any one of the following question in 250 words. (10) 
 1) Explain the Zero base budgeting technique and give its advantages and 

disadvantages. 
 

 2) Explain the Benefit principle of taxation.  
   
Q. 4. Answer any two of the following question in 500 words. (30) 
 1) Explain the following: 

a) Wagner’s Law  b) Wiseman – Peacock Hypothesis 
 

 2) Describe the changing role of the government in modern times.  
 3) Explain how the problem of double taxation arises and the measures taken to solve 

this problem.  
 

Regular/External (60:40) 
R-2017-18 till 2021-22 
E-2017-18 till 2019-20 
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_amR>r  énm§Va 
gmd©O{ZH$ AW©emñÌ ^mJ - 1 (ECBCS 17-312)  

 gyMZm :  1) gd© àý gmoS>{dUo A{Zdm ©̀.  2) COdrH$S>rc A§H$ Ë`m àíZm§Mo JwU Xe©{dVmV.   

à. 1. Imbr {Xboë`m Mma n`m©`m§n¡H$s `mo½` n`m©` {ZdS>m.  (05) 

1.       ³b~ dñVy§Mm nwadR>m H$moU H$aVo?  

 A) ImOJr joÌ ~) gmd©O{ZH$ joÌ  

 H$) ImOJr Am{U gmd©O{ZH$ joÌ XmoÝhr S>) darb H$moUVohr Zmhr  

2. Ae³¶Vm à‘o¶ H$moUr ‘m§S>bo?  

 A) n°aoQ>mo ~) A°amo  

 H$) g°å¶wAbgZ S>) qbS>mb  

3. H$a^ma H$moUmda nS>Vmo?  

      A) àW‘ H$a ^aUmè¶mda ~) H$amMo g§H«$‘U Pmboë¶m ì¶³Vrda       

 H$) eodQ>r H$a ^aUmè¶mda S>) H$a ^maV ZgUmè¶m ì¶³Vrda  

4. b°’$a dH«$ H$moUË¶m XmoZ KQ>H$m§ ‘Yrb g§~§Y XmIdVmo?  

 A) H$amMo Xa d H$amnmgyZ {‘iUmao CËnÞ  ~) ~MV d Jw§VdUyH$  

 H$) qH$‘V d ‘mJUr S>) ì¶mOXa Am{U Jw§VdUyH$  

5. H$aXo¶ j‘Vm H$er ‘moObr OmVo?  

 A) gaH$mar godm§nmgyZ {‘iUmam bm^ ~) ì¶dgm¶  

 H$) CËnÞ S>) ~MV  

   

à. 2. Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm. (15) 

 1) ImOJr dñVy Am{U gmd©O{ZH$ dñVy§‘Yrb ’$aH$  

 2) gmd©O{ZH$ IMm©Mr C{ÔîQ>ço  

 3) {Q>~y à{V‘mZ  

 4) H$aoÎma CËnÞmMm AW© Am{U àH$ma:  

 5) H$aamonUm ‘Yo g‘Vb Ý¶m¶ Am{U b§~mË‘H$ Ý¶m¶  

   

à. 3. Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 250 eãXmV {bhm. (10) 

 1) ewÝ¶mYm[aV AW©g§H$ënmMr nÕV ñnï> H$am Am{U Ë¶mMo ’$m¶Xo d VmoQ>o gm§Jm.  

 2) H$a AmH$maÊ¶mMo bm^ VÎd ñnï> H$am.  

   

à. 4. Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 500 eãXmV {bhm. (30) 

 1) Imbrb ~m~r ñnï> H$am. 
A) d°JZaMm {Z¶‘   
~) dmB©O‘Z - nrH$m°H$ ¶m§Mo J¥{hVH$  

 

 2) AmYw{ZH$ H$mimVrb emgZmÀ¶m ~XbË¶m ŷ{‘Ho$Mo dU©Z H$am.  

 3) Xþhoar H$amMr g‘ñ¶m H$er ApñVËdmV ¶oVo Am{U Ë¶mda H$moUVo Cnm¶ Ho$bo OmVmV.  

 


